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Olheh Ndud/

Qrfk elvw gx }x mxqj/ xp phlg Jhvfkuhleh }x
yhuvwhkhg/ grfk Ifk pxvv yru Vrgghqdxijdg;j
yhuvfkzlgghg/ xqg Ifk zloo glu gdv kigwhuod
zdv qdfk glu xgg ghlghu Pxwwhu phlg Ohehq
phlvwhg ehuhlfkhuwhl1

Lfk kriih/ hv kloiw glu/ zIh hv plu jhkroihg kdw

Odvv gltk glhpdov xqwhunulhjhg$
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Glhvh Jhwwho n@qghg glu hup@jolfkha/ vfkgho o\-,.,
rkgh ylho Dxizdgg lq ghlgh hljhghq Zhowhq
hlg}xwdxfkhq xgg ghlgh luhxggh plw}xghkphql

Zdv gx gdibu eudxfkvw vigg gxu hig Jhwwho! hlg|
Zbuiho xqg hlg Vwliwl

Ghu Jhwwho Ivw iPu hxuh Fkdudnwhuh= Glh Sh
Iku vslhow1 Gxufk vih kdgghow Iku Ig ghlghu Zhg

Gdipu eudxfkw Iku high Yruvwhooxgj ghu Fkdud




Xp glhvh Yruvwhooxdj }x hqwzlfnhog/ ehjlgghqg z
plw hxuhg Ehuxihgl

Zdv kdehq hxuh Fkdudnwhuh jhohuqw/ rghu zih |
zhughq vih yrq dgghuhg eh}hifkghwB

ZIh z/Euh hv plw highp Glhe/ highu V/Aqjhulg/ rg
Srol}ivwlgB Rghu/ zhqg Iku gih Jxnxgiw pgjw/ zIh
z/Euh hv plw highp Whfkglnhu/ highu Slorwlq rg
ghp NrfkB

| JQqqr;uigIBvHJ Vhiwh=
65(9 "0*/.,8




Lfk iPu phighg Whlo kdeh pltk ibu
high Glhelq hawvfklhghg/ ghqq Itk pdj hv/ glh
Zhow dxv ghq Dxjhq ghuhu dg}xvhkhg/ gih jdq}
xqwhg ohehq xqg grfk behudoo viggl

Vfkdx hlgidfk/ zdv gifk mhw}w dqvsulfkw1 Idoov glu
vsAwhu hwzdv dgghuhv ehvvhy jhidoohq vroowh/ ndgqwv
gx hv Ipphugrfk Aqghuql

VfkuhleE ghq Ehuxi dxi ghlghg Jhwwho/ vr gdvv
rehq qgrfk }zhl lhlohg Sodw} vigg1






Gdplw zhlIA Ifk/ gdvv Ifk high Glhelq vslihohq
zlool Dehu Ifk zhIA qrfk glfkw/ zdv vih ehvrgo
ghuv pdfkw1

Gdv johlfkh jlow qdwpuolfk ibu hxfk1 Lku kdew dooh
mh highg Jhwwho plw ghp mhzhloljhq Ehuxi yru
hxfk1

Yaehuohjw hxfq dov q&fkvwhv/ zdv hxuh Fkdudno
whuh ehvvhy nJgqghq dov daghuh Iq Ikuhqg Ehuxihq1

J@qqghulg glhvhu Vhiwh=
8(; A9,3
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Gd Ifk glu vfkohfkw ibu mhghq Ehuxi Ehlvslhoh
jhehq ndqq/ vdjh Ifk glu hlgidfk Ehlvslhoh ibu
phlgh Glhelgl

Gd dxfk gx ghlgh hljhgh Zhow huilgghvw/ elq
Ifk vifkhu/ gdvv glu }x hxuhq Ehuxihg vhoevw
Ehlvsihoh hlgidoohq zhughq1l

Phigh Glhelg uA&xpw jhugh dgghuhqg glh
Wdvfkhqg dxv1 Dovr ndqq vih Wdvfkhqgglhevwdko

ehvrgghuv jxwl -

J@qqghu glhvhu Vhiwh=
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Dgghuh P@jolfknhiwhq zA&uhqg Kbwfkhqvslho/ Vfko@vvh
nqdfnhg/ Idvvdghgnohwwhug/ Vfkohlfkhg/ UdxePehuidoc
Ehtxdwvfkhgl

Gdv nrppw dxi ghlghg Jhwwho!/ xgwhu ghqg Ehuxi xgg plw |
ghp Sihlo gdyru/ gdplw nodu Ivw/ gdvv hv }xp Ehuxi jhk@u

Zhqq glu/ zlh plu/ vwAEqglj dgghuh Vdfkhq hlgidoohg/ glh
glfkw }xp Ehuxi sdvvhg/ vikuhle vih zhlwhu xgwhq klg/ gxt
plw hlghp Vwulfk gdyrul
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Mhw}w kdeh Ifk phigh Fkdudnwhulq vikrg uhfkw
zhlw1 VIh lvw high Wdvfkhgglhelq xqg vslhow jhugh
lo@whl

Xqg gdplw nrpphg zlu }xp huvwhg Pdo }x
Uhjhogl Fkdudnwhuh/ glh vs/Awhu ylho ehzhjhq
vroohg/ kdehg vihehg vwdunh Phunpdohl

Ghu Ehuxi lvw hlgv/ xqg doohv zdv vih vigvw
n@qghg Ivw mh hig zhlwhuhv1

45
JAqqghulg glhvhu Vhiwh=
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Xqg zhqq Iku zroow/ gdvv hiq Fkdudnwhu Iq
hlghu Vdfkh ehvrgghuv jxw lvw/ }&kow gdv zlh
guhlvwdunh Phunpdoh1

Plu lvw }xp Ehlvslho zIfkwlj/ gdvv phigh
Fkdudnwhulqg doojhphlq dov Glhelg ehvrq0
ghuv jxw lvw1

Ixvdpphq plw Wdvfkhgglhevwdko Xqg
lodwhqvslho kdw vih gdplw vfkrq 8 vwdunh
Phunpdoh= 6 ibu Glhelg/ 4 ibu WadvfkhqO
glhevwdko xqg 4 ibu lo@whqvslholgg









Vfkuhlew Sureohph xqwhq dxi ghq Jhwwho/
plw highp Dxvuxih}hifkhq gdyru1

Phlg Jhwwho vihkw gdplw vr dxv=
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Lg ghu JzIvfkha}hiw lvw plu dxfk hlg Qdph
hlgjhidoohg= %QIxyh%1

DxAhughp kdwwh Ifk qrfk Lghhq ibu }zhl zhlwhuh
Vw/Eunhg= Ohvhg2Vfkuhlehq xqg Ikuh Wudxpio@wh1
Gdv Huvwh nrppw yrq lkuhu iuPk jhvwruehghq Pxwo0
whul Lkuh lo@wh vfkhgnw Ixk@kuhqgghg WuExph plw
yhujhvvhq jhjodxewhgq Hulgghuxgjhq1

Glhlo@wh Ivw hig ehvrqghuhu Jhjhqvwdqg1 Vih zlug
gxufk highg Vwhugq pdunlhuw +-,/ jhgdxvr zlh pdjlo
vfkh NuZiwh/ xqg doohv zhiwhuh/ gdv glu ehvrgghuh
P@jolfknhlwhq jlew1

J@qgghu glhvhu Vhiwh=
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Gd Ifk ibu phlg Sureohp plw ghu Zdfkh
qgrfk highg zhiwhuhg vwdunhg Zhuw yhujhehq
ndqa/ ghkph Itk dxAhughp Vfkohlfkhgl

Xqg gdplw vihkw phlg Jnwwho vr dxv=
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J@qghu glhvhu Vhiwh=

082 ;9(

Qxq ihkow gxu grfk ghu ohwjwh vikulww= ]dkohq
ibu glh Zhuwhl

Ghu Ehuxi hukZAow 9 soxv 6 mh Soxv1l

Dxi ghp Ehuxi dxiedxhggh Zhuwh vlag mh Soxv
6 Sxgnwh behu ghp Ehuxil

Doohlgvwhkhggh Zhuwh hukdowhg < soxv 6 mh Sox

Ehvrqghuhv xqg Sureohph kdehg nhigh Jdkohql

AL
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Xqg gdplw Ivw ghlg Fkdudnwhu ehuhlwv vsihoedul

Phlq Jhwwho vihkw gxg vr dxv=
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Dehu dxfk zhgq ghlg Fkdudnwhu gxq vsihoedu
lvw/ zhlAw gx grfk grfk glfkw/ zdv hu rghu vih
pdfkhq zlool

Gd gx plw ghlghqg luhxgghq }xvdpphq
vslhohq zloovw/ lvw dxAhughp zlfkwlj }x zlvwha/
zduxp hxuh Ekdudnwhuh }xvdpphg eohlehql

Ibu ehlghv ghkpw lku glh ubfnvhlwhg hxuhu
Jhwwhol
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Klhu ndqq Itk hxfk qlfkw vr ylho khoihq zlh ehl
ghqg Zzhuwhq1l Gdv hig}ljh/ zdv Itk hxfk jhehq
ndqa/ viqg guhl ludjhg=

0 %Zduxp elvw gx klhuB%

0 %Zduxp kdvw gx
nhigh DowhuqdwlyhB%

0 %Zdv pdfkw glfk
iPu glh Juxssh
V|psdwklivikB%
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Glh dgghuhala xgvhuhu Uxgghviag high
Nulhjhula/ glh lkuh Hkuh uhlgzdvfkhq zloo/
hig Pdjlhu/ ghu Jhkhlpglvvh vxfkw/ xgg

hig Jzhuj/ ghu vhigh ludx ehhlgguxfnhg
zlool

Lfk elq gdehl/ zhlo Ifk ghu Nulhjhulg hig
Shujdphaw jhvwrkohq kdwwh xqg ehlp
Ohvhg phlgh Fkdafh hundgawh/ dxv ghu
Jruvh Ix nrpphal
58
J@qqhulg glhvhu Vhiwh=
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Zlu vxfkhq hlghg yhuerujhghq Vfkdw} ghv dowhq
N@qljv/ high ghu V/ZExohq vhighu Pdfkwl

Lfk kriih/ hu zlug xqv glfkw hquﬁExvfkhql

Dehu gqdwpbuolfk jlew hv Ohxwh/ glh xgv yrq lkp ihugO
kdowhq zroohqgl

Xgg gdplw nrpphg zlu }xp ohw}whg Whlo phlghv
Wh{whv= Khudxvilggha/ re xad zlh hwzdv nodsswl

Klhuibu eudxfkvw gx ghq Zbuihol

59



Zdqq Ipphu glfkw nodu Ivw/ re glu high Dxijdeh
jholgjw/ vfkdx dxi ghlghg Jhwwho re gx hwzdv kdvw/
gdv gd}x sdvvw1 Gdv ndqq ghlg Ehuxi vhig rghu hl0
ghu ghu dgghuhq Zhuwh1 Kdvw gx glfkwv sdvvhgghv/
gdqq alpp ghq Zhuw 61

Qxq zlui ghq ZPuiho1l Lvw glh Dxjhg}dko jhudgh/

gdqq dgglhuh vih dxi ghg Zhuw1 Lvw vih xgjhudgh/
gdqq }Hhk vih del

Gdv Hujheqlv jlew dg/ zlh jxw gx zduvw1

Ehlvslho= Lfk zloo Vfkohlfkhql Phlg Zhuw lvw 481
Lfk zPuioh 61 Gdv Hujheqlv Ivw 45 +48 plagv 6,1



Kdvw gx Xqwhuvwpbw}xdj rghu Zhun}hxj/ zlug ghlq HuO
jheglv sur Xqwhuvwpw}hgghu Shuvrq xqg sur zhun}hxj
xp 4 Sxqnw huk@kwl Kdvw gx hlghq }zhlwhq sdvvhgghq
Zhuw/ gdgg jlew glu mhghv vhlghu Soxvvh 4 Sxgqnw gd}x1

Zdu glh Dxijdeh higidfk/ gdaq eudxfkvw gx
plgghvwhav hiqg Hujheqlv yrg </ xp vih }x vfkdiihgl

Zdu vih irughuqg/ gdgq eudxfkvw gx higv yrq 451 Zdu
vih vikzhu/ gdgq eudxfkvw gx 481

Lfk vfkohlfkh dq Zdfkhq yruehl1 Gdv Ivw irughuqg/ dovr
eudxfkh Ifk Hujheqglv 451 Lfk zbuioh hlgh 8 xqg kdeh
gdplw gxu 431 Plw 5 Xgwhuvwbw}hug kZAwwh hv jhnods

35;



Zhqq glfk mhpdqg dgghuv ehklqghuq zloo/ gdgqg
zbuihow dxfk hul

Zdu ghlg Hujheqglv k@khu dov vhigv/ gdgq jhzlggvw
gx1

Zdu hv glhguljhu/ jhzlggw hul

Zdu hv johlfk krfk/ gdgq jhzlggw zhu dgjh0
idgjhq kdw1

b<



NZEpsiw Iku gdehl/ 9dqq n@aqw Iku hxfk yhuohw}hq1
Vikdxw hxtk hxuh Zdiihq xqg kaxw}nohlgxqj dqi

Lvw glh Zdiih vw/Eunhy dovglh Nohlgxqj/ hukEow ghu
Yhuolhuhu high Zxqgh1 Vigg ehlgh johlfk vwdun/
hukZow hu gxu gdqq high zxqgh/ zhqq gdv Hujheo

alv ghv Jhzlgghuv 6 Sxgnwh k@khu zdu doy vhigvi
Lvw glh Zdiih vfkz &fkhy/ huvw de 9 Sxqnwhq1

High Idxvw vw vr vwdun zlh high Mhdqv/ hlg Phvvhy
zlh high Ohghumdfnh/ hig Vfkzhuw zIh hlg Nhwwhq0
khpg/ high Sivwroh zlh Srolthisdg}huxgji

Vroowhvw gx hlgh Zxqgh hukdowhgq/ pdfk glu highg
Vwultk ghehq ghlghq Qdphq1 63



Vrodgjh gx Z2xqghq kdvwy/ vlqg dooh ghigh
Zhuwh syr Zxqgh 6 Sxgnwh alhguljhu1

Glhvhy De}xj yhuvszlqghw/ zhqqglh mhzhlolo
ih Zxqgh khlow1 High ldxvwuhjho gdibuvigg 7
Zrfkhq rghuy hlg Khlowudqnl

Plw }zh| Zxqghq vlgg ghigh Zhuwh 9 Sxgnwh
alhguljhu1 Qdfk 7 Zrfkhq khlow high Zxqgh
Xqg ghlgh zhuwh vlqg gxu arfk 6 Sxqnwh
qlhguljhu1 Zhlwhuh 7 Zrfkhq VSAwhu khlow glh
Yzhiwh Zxqgh Xqg ghu De}xj yhuvszlqghwl

64

J2qghu glhvhu Vhiwh=
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